Midlothian Council

Transfers Report

This report contains the transfers results.

Valid Votes
Positions to be Filled
Quota

4,306 3 1,077

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Marion BLACK	Scottish Green Party	299
Jamie BRYANT	Alba Party	56
Colin John CASSIDY	Scottish National Party (SNP)	1,012
Stephen CURRAN	Scottish Labour Party	1,163
Karen Mary GREEN	Scottish National Party (SNP)	501
Margot RUSSELL	Scottish Labour Party	816
Mark WELLS	Scottish Conservative and Unionist	459
	Total	4,306

Candidate Stephen CURRAN Elected with 1,163 votes, being in excess of the quota of 1,077

Ward 3 - Dalkeith

Midlothian Council

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Stephen CURRAN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Marion BLACK	31	0.07394	2.29214
Transfer to Colin John CASSIDY	80	0.07394	5.91520
Transfer to Karen Mary GREEN	31	0.07394	2.29214
Transfer to Margot RUSSELL	881	0.07394	65.14114
Transfer to Mark WELLS	51	0.07394	3.77094
No further preference	84	0.07394	6.21096
Not transferred due to rounding			0.00778
	Total		86.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Exclusion of Jamie BRYANT

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Marion BLACK	10	1.00000	10.00000
Transfer to Colin John CASSIDY	18	1.00000	18.00000
Transfer to Karen Mary GREEN	5	1.00000	5.00000
Transfer to Margot RUSSELL	13	1.00000	13.00000
Transfer to Mark WELLS	2	1.00000	2.00000
Transfer to Marion BLACK	1	0.07394	0.07394
Transfer to Margot RUSSELL	3	0.07394	0.22182
No further preference	8	1.00000	8.00000
No further preference	1	0.07394	0.07394
Not transferred due to rounding			0.00000
	Total		56.36970

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Marion BLACK

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Colin John CASSIDY	97	1.00000	97.00000
Transfer to Karen Mary GREEN	94	1.00000	94.00000
Transfer to Margot RUSSELL	57	1.00000	57.00000
Transfer to Mark WELLS	18	1.00000	18.00000
Transfer to Colin John CASSIDY	4	0.07394	0.29576
Transfer to Karen Mary GREEN	3	0.07394	0.22182
Transfer to Margot RUSSELL	22	0.07394	1.62668
No further preference	43	1.00000	43.00000
No further preference	3	0.07394	0.22182
Not transferred due to rounding			0.00000
	Total		311.36608

Midlothian Council

Transfers Report

This report contains the transfers results.

Stage 5 - Surplus of Colin John CASSIDY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Karen Mary GREEN	922	0.04960	45.73120
Transfer to Margot RUSSELL	76	0.04960	3.76960
Transfer to Karen Mary GREEN	29	0.00366	0.10614
Transfer to Margot RUSSELL	28	0.00366	0.10248
No further preference	116	0.04960	5.75360
No further preference	25	0.00366	0.09150
Not transferred due to rounding			0.00432
	Total		56.21096

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Mark WELLS

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Karen Mary GREEN	15	1.00000	15.00000
Transfer to Margot RUSSELL	240	1.00000	240.00000
Transfer to Karen Mary GREEN	1	0.07394	0.07394
Transfer to Margot RUSSELL	30	0.07394	2.21820
Transfer to Karen Mary GREEN	3	0.04960	0.14880
Transfer to Margot RUSSELL	3	0.04960	0.14880
Transfer to Margot RUSSELL	2	0.00366	0.00732
No further preference	224	1.00000	224.00000
No further preference	20	0.07394	1.47880
No further preference	7	0.04960	0.34720
Not transferred due to rounding			0.00000
	Total		483.42306